

## SUPPLEMENT

TO THE

## NEW ZEALAND GAZETTE

OF

THURSDAY, 5 MAY 1983

Published by Authority

WELLINGTON: MONDAY, 9 MAY 1983

Import Licence Tendering—Call for Tenders: Round 7

Pursuant to the Import Control Regulations 1973, Amendment No. 3 (S.R. 1980/246), the Secretary of Trade and Industry, acting under delegated authority is calling tenders for the goods specified below. These goods constitute Round Seven and comprise the 4th Allocation of Apparel under the Textile Industry Development Plan, tennis racquets and frames as part of an industry production rationalisation scheme, of Apparel under the Textile Industry Development Plan, tennis racquets and frames as part of an industry production rationalisation scheme, fur apparel and sanitary towels as a means of examining protection policies. A special import licence allocation for handknotted and hand-woven rugs and carpets of wool or fine animal hair (including silk) is repeated from Round 5. Licences obtained for Apparel in this Round are not valid until 10 September 1983 and are valid thereafter for 12 months. Results of tendering are expected to be published in July but invoices will not be payable until 10 September 1983, and payment must be made within six months thereafter.

It should be noted that an allocation of licence has already been made to manufacturers of tennis racquets. Manufacturers opting to uplift that licence and any company in which they have a 25 percent share, or greater, directly or indirectly are not permitted to tender in this Round for tennis racquets and frames. Instructions for tenderers and the general terms and conditions which apply to the submission and acceptance of tenders are set out in the Guide to Import Licence Tendering dated October 1982.

Tenders should be addressed to the Registrar of Tenders, P.O. Box 3146, Wellington or be delivered by hand to the First Floor of the Bowen State Building, Wellington. Tenders for Round 7 should reach the Registrar no later than 5 p.m. on 30 May 1983. Note:

- 1. Tenderers should refer to the Customs Tariff and the Import Licensing Schedule for a definite description of the goods included in the
- 2. Tenderers should be conversant with the various statutes and regulations which importing enterprises are obliged to comply with, such as the Food and Drug Regulations 1973, Safety Standards, Duties and Sales Tax, etc., where relevant.
- 3. Successful tenderers under the Apparel Tendering Scheme are required to provide details of how their tender licence(s) have been used at the time of importation. Forms for this purpose will be attached to the letter of official notification sent to successful tenderers. The completed information should be sent to the Executive Officer, Textiles 1, Industries Division, Department of Trade and Industry, Private

Bag, Wellington.
Failure to provide this information is likely to result in the tendering being debarred from further participation in the scheme.

Failure to provide this information is likely to result in the tendering being debarred from further participation in the scheme. 4. Tenderers are reminded to use a separate tender form for each tender number. Bids may be sent in one envelope. The envelope should be marked Import Licence Tender.

							NT
Tender No.	Item Code	Tariff Items	Goods: Brief Description	Apparel 4th Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
			TEXTILE ARTICLES OF APPAREL				101
			Men's and Boys' Outer Garments				
1049 1050 1051	60.080 60.080 60.085	60.05.003 & 004 60.05.003 & 004 60.05.015 & 016	Jerseys, pullovers, cardigans Jerseys, pullovers, cardigans Coats	70,000 200,000 50,000	10 × 10 × 10 ×	20,000	2 2 2
1052	61.005 60.085	61.01.002 & 003 60.05.015 & 016	Coats	270,000	•	10,000	5
1053	61.005 60.090	61.01.002 & 003 60.05.023 & 024	Jackets, blazers and the like	47,000	10 ×	4,700	2
1054	61.010 60.090	61.01.011 & 012 60.05.023 & 024	Jackets, blazers and the like	150,000	15 ×	10,000	3
1055	61.010 60.095	61.01.011 & 012 60.05.035 & 036	Suits	47,000	10 ×	4,700	2
1056	61.015 60.095	61.01.021 & 022 61.05.035 & 036	Suits	200,000	10 ×	20,000	2
1057	61.015 60.100	61.01.021 & 022 60.05.043 & 044	Trousers, breeches and the like including shorts	680,000	40 ×	17,000	8
1058	61.020 60.100	61.01.031 & 032 60.05.043 & 044	and jeans Trousers, breeches and the like including shorts	2,400,000	60 ×	40,000	10
1059	61.020 60.105	61.01.031 & 032 60.05.053 & 054	and jeans Other mens and boys outer garments including	62,000	10 ×	6,200	2
1060	61.025 60.105	61.01.041 & 042 60.05.053 & 054	swimwear Other mens and boys outer garments including	340,000	17 ×	20,000	3
	61.025	61.01.041 & 042	swimwear  Women's and Girls' Outer Garments				
1061	Ex 60.110	Ex 60.05.061 & 062	Jerseys, pullovers, cardigans	220,000	22 ×	10,000	4
1062 1063	Ex 60.110 60.115	Ex 60.05.061 & 062 Ex 60.05.071 & 072	Jerseys, pullovers, cardigans Coats	1,400,000	56 ×	25,000 10,000	1 <u>0</u> 2
1064	Ex 61.030 60.115	Ex 61.02.002 Ex 60.05.071 & 072	Coats	380,000		20,000	3
1065	Ex 61.030 Ex 60.120	Ex 61.02.002 Ex 60.05.081 & 082	Jackets, blazers and the like	45,000	9 ×		2
1066	Ex 61.030 Ex 60.120	Ex 61.02.002 Ex 60.05.081 & 082	Jackets, blazers and the like	280,000		20,000	2
1067	Ex 61.030 60.125	Ex 61.02.002 Ex 60.05.091 & 092	Suits including costumes	200,000		10,000	4
1068	61.040 60.125	Ex 61.02.025 Ex 60.05.091 & 092	Suits including costumes	1,700,000		20,000	10
1069	61.040 60.130	Ex 61.02.025 Ex 60.05.101 & 102	Dresses	150,000	15 ×	10,000	3
1070	61.045 60.130	Ex 61.02.025 Ex 60.05.101 & 102	Dresses	1,300,000	52 ×	25,000	10
1071	61.045 60.135	Ex 61.02.025 Ex 60.05.111 & 112	Skirts	200,000	20 ×	10,000	4
1072	61.050 60.135	Ex 61.02.041 & 042 Ex 60.05.111 & 112	Skirts	400,000	20 ×	20,000	4
1073	61.050 60.140	Ex 61.02.041 & 042 Ex 60.05.121 & 122	Blouses	42,000	20 ×	2,100	4
1074	61.055 60.140	Ex 61.02.041 & 042 Ex 60.05.121 & 122	Blouses	100,000	20 ×	5,000	4
1075	61.055 60.145	Ex 61.02.041 & 042 Ex 60.05.131 & 132	Trousers	200,000	20 ×	10,000	4
1076	61.060 60.145	Ex 61.02.061 & 062 Ex 60.05.131 & 132	Trousers, breeches and the like including shorts	900,000	36 ×	25,000	7
1077	61.060 60.150	Ex 61.02.061 & 062 Ex 60.05.141 & 142	and jeans Other womens and girls outer garments including swimwear	50,000	10 ×	5,000	2
1078	61.065 60.150 61.065	Ex 61.02.071 Ex 60.05.141 & 142 Ex 60.02.071	Other womens and girls outer garments includ- ing swimwear	300,000	30 ×	10,000	6
			Men's and Boys' Undergarments				
1079	Ex 60.045	60.04.003 & 004	Shirts not exceeding 81 cm	16,000	10 ×	1,600	2
1080	Ex 61.070 Ex 60.045 Ex 61.070	61.03.003 & 004 60.04.003 & 004 61.03.003 & 004	Shirts not exceeding 81 cm	80,000	16 ×	5,000	<b>3</b> ,
1081	Ex 60.045 Ex 61.070	60.04.011 & 012 61.03.007 & 008	Shirts exceeding 81 cm	190,000	19 ×	10,000	3
1082	Ex 60.045 Ex 61.070	60.04.011 & 012 61.03.007 & 008	Shirts exceeding 81 cm	800,000	32 ×	25,000	6
1083	60.050 61.075	60.04.021 & 022 61.03.011 & 012	Pyjamas	52,000	10 ×	5,200	2
1084	60.050 61.075	60.04.021 & 022 61.03.011 & 012	Pyjamas	180,000	15 ×	12,000	3
1085	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Vests	22,000	10 ×	2,200	2
1086	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Vests	180,000	15 ×	12,000	3
1087	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Briefs	114,000	20 ×	5,700	4
1088	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Briefs	700,000	35 ×	20,000	7
1089	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Other mens and boys undergarments	48,000	10 ×	4,800	2
		<del></del>					

## THE NEW ZEALAND GAZETTE

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Apparel 4th Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
			MEN'S AND BOYS' UNDERGARMENTS—continued				
1090	Ex 60.055 Ex 61.080	Ex 60.04.025 & 026 Ex 61.03.021 & 022	Other mens and boys undergarments	180,000	18 ×	10,000	. 3
			Women's and Girls' Undergarments				
1091	60.065	Ex 60.04.041 & 042 Ex 61.04.003 & 009	Shirts	72,000	10 ×	7,200	2 .
1092	61.085 60.065 61.085	Ex 61.04.003 & 009 Ex 60.04.041 & 042 Ex 61.04.003 & 009	Shirts	400,000	25 ×	16,000	5
1093	60.070	Ex 60.04.051 & 052	Pyjamas and night dresses	31,000	10 ×	3,100	2
1094	61.090 60.070 61.090	Ex 61.04.011 & 012 Ex 60.04.051 & 052 Ex 61.04.011 & 012	Pyjamas and night dresses	50,000	10 ×	5,000	2
1095	Ex 60.075	Ex 60.04.061 & 062	Slips	32,000	10 ×	3,200	2
1096	Ex 61.093 Ex 60.075 Ex 61.093	Ex 61.04.021 & 022 Ex 60.04.061 & 062 Ex 61.04.021 & 022	Slips	100,000	10 ×	10,000	2
1097	Ex 60.075	Ex 60.04.061 & 062	Vests and spencers	80,000	16 ×	5,000	3
1098	Ex 61.093 Ex 60.075	Ex 61.04.021 & 022 Ex 60.04.061 & 062 Ex 61.04.021 & 022	Vests and spencers	230,000	23 ×	10,000	4
1099	Ex 61.093 Ex 60.075	Ex 60.04.061 & 062	Other women's and girls undergarments exclud-	53,000	10 ×	5,300	. 2
1100	Ex 61.093 Ex 60.075 Ex 61.093	Ex 61.04.021 & 022 Ex 60.04.061 & 062 Ex 61.04.021 & 022	ing pilchers Other women's and girls undergarments excluding pilchers	150,000	15 ×	10,000	3
	EX 01.075	24 01.0 1.021 66 022	Women's Hosiery, Etc.				
1101	Ex 60.035	Ex 60.03.001 & 002	Stockings other than full length hosiery	32,000	10 ×	3,200	2
1102	Ex 60.038 Ex 60.038	60.03.041 & 042 60.03.021 & 022 Ex 60.03.032 & 033	Stockings full length man-made fibre	61,000	10 ×	6,100	2
1103 1104 1105	Ex 60.038 60.060 60.060	60.03.021 & 022 60.04.031 & 032 60.04.031 & 032	Stockings full length man-made fibre Pantyhose Pantyhose	100,000 168,000 900,000	16 ×	10,000 10,500 20,000	2 3 9
			Men's Hosiery and Other Products		,		
1106 1107 1108 1109 1110 1111	Ex 61.105 Ex 61.105 61.113 61.113 61.115	Ex 61.06.000 Ex 61.06.000 61.07.001 & 009 61.07.001 & 009 61.09.001 & 009 61.09.001 & 009	Shawls, scarves, etc. Shawls, scarves, etc. Ties, bowties and cravats Ties, bowties and cravats Corsetry Corsetry	16,000 100,000 16,000 80,000 58,000 600,000	8 × 20 × 10 ×	( 10,000 ( 2,000 ( 4,000	2 2 2 4 2 8
		, H	IANDKNOTTED AND HANDWOVEN CARPETS AND RU	GS			
1112	58.120	Ex 58.01.009.01L Ex 58.01.009.09F Ex 58.02.003.11C Ex 58.02.003.21L Ex 58.02.003.25C Ex 58.02.007.11J Ex 58.02.007.11J Ex 58.02.007.21F Ex 58.02.007.25J Ex 58.02.007.41L	Handknotted and handwoven carpets and rugs of wool or fine animal hair (including silk)	200,000	20 >	< 10,000	4
			Other Tenders				
1113	43.010	Ex 43.03.011 43.03.019 Ex 43.04.011	Other articles of furskin; artificial fur and other articles thereof, other than the gloves specified in Item Code 43.000	20,000	4 >	< 5,000	1
1114	97.035	43.04.019 Ex 97.06.009.61L	Strung or unstrung tennis, badminton and squash racquets or frames, the f.o.b. value of which		21 >	< 2,000	4
	97.045	Ex 97.06.009.61L	does not exceed \$4.50 (NZ) (See Appendix III Unstrung tennis, badminton and squash frame containing wood the f.o.b. value of which	) s ·			
1115	48.092	Ex 48.21.011	exceeds \$4.50 (NZ) Sanitary towels	160,000	4 >	< 40,000	2